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Which statement is true?

A The circumference of a circle is equivalent to approximately one-third of its diameter.
B The circumference of a circle is equivalent to approximately three times its diameter.
 The circumference of a circle is equivalent to approximately two times its diameter.

D The dircumference of a circle is equivalent to approximately one-half of ts diameter.
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Which statement is true?

A The diameter of a dircle is half the length of the radius.

B The radius of a dircle is four times the length of the diameter.

c The diameter of a dircle is two times the length of the radius.

D The radius of a dircle is one fourth the length of the diameter.
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Which shape has opposite sides parallel, four right angles, and opposite sides congruent?
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This figure is a trapezoid because —

A it has four right angles

© B all sides are congruent
© ¢ it can be divided to make exadlly two squares

© D it has exactly one pair of parallel sides
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Identify the figures that can be classified as quadrilaterals.
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Darla has 5 pounds of sugar.
She used 1% pounds of sugar to bake some cookies.

She then used 31% pounds of sugar to bake some
cupcakes.
How much sugar does Darla have left?




image16.png
Cut out and paste in appropriate shape.
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Kim has 9 spools of ribbon, 3 spools of each color.
This table shows the amounts of ribbon Kim has

already used.
[risbon [ k[ croen | e |
Amount 1 7
Used 12

How much ribbon does Kim still have?
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The table shows the weights of Tony's three dogs.

Tony's Dogs
Weight
(in pounds)

If the combined weight of all of the dog is 95 pounds,
how much does Bear weigh?
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Point Ais the center of the circle.

'EFis best described as —

A anarc
B aradius
€ a diameter

D achord

D
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Rhonda is painting the edge of a circular pattern on the gym floor. Which of these is she painting?

A Radius

O B Diameter
o ¢ Chord

O D Circumference
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Which illustration best shows QR as the diameter of the circle?








